SR
AANY

RARBEBAKRKETHIENKEE
EmE S=1: 500

ZEFINVERFEEBELISE

HEBHE L=92.3m A=357m

8 F—n—LA fak=
| =3m L=17m L=20m L=20m L=20m L=3m L=9.3m
== ==
IO 1R[=]
wl* w|"
- w
© + o+
3.00 3.0\3
o o
== = = == == == ==
IO Il © Il O [IR[=} Il O IO
- &~ - N L i
O O oo (e] S o+
3 3 3 3 3 3;
e
|| \ | | [ /
- ‘ | I
\ |
5 \ \ | D q
\ | |
\\ } ‘ / //
S | )
/ \\ |
/ S | q
// \\ |
\\ |
\\
\;\'/
\\\; / ‘
HEMmEK S=1: 15
(REITER) B MEMERE  t=do (F—n"—L 1)
T | T T | T
xEI (BEZHEIIF) t=4cm A —nN—L 4 (BEZFHEIIF) t=4cm
FRERRF (BEMSHY M-25) t=F13cm B 5% & &

REIT&Fr MHEBHEH 2

A
aX n




